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Topic:- General Knowledge and Logical Knowledge

1) selectthe optionthat is true about the Statements and
Conclusions given:
Statements:
All books are papers
Some papers are covers
Conclusions:
I. No cover is book
Il. 5ome books are covers

/ 39 e & o Fifsw St T few e su=t 3R st
& I H TGl &
FUA:
el g BT &
T HITS HA0TE
e
I. &3 ATROTIEAS =6l &
Il. HETETH HTROTH
1. only conclusion Il follows / Had B || WW%
2. only conclusion | follows / FHad fAsp | &WW%
3. neither conclusion | nor conclusion Il foIIows/:fﬁﬁEﬂf | Sthé)[ﬁEb_@f Il &WW%

4. both conclusion | and Il follows / fSF | 3R 11 ST TR0 o’ &

Correct Answer :-

¢ neither conclusion | nor conclusion Il follows / '_‘fgafﬁﬁh_ﬁf | Gﬁ? Cl ?3[ frapy || &WW%

2) Find the odd one out: / T% fauH FTd HIfoTC:
1. Cube /91

2. Triangle/ﬁﬁ'UT

3. Square /an

4. Rectangle / 3Td

()



Correct Answer :-

e Cube/Yd

3) Find the odd combination of letters and numbers from among the following: /ﬁ'ﬂﬁ'@ﬁﬁ'\& H&mt{a
T3 BT fauH &1 HAIo F1d Be:

i. 1377520 ii. 1377502 iii. 1377520 iv. 1377520

4. iii

Correct Answer :-

4) In how many ways can 5 members be selected out of 10 members, so that the two particular members must

always be excluded? / 1oﬂmﬁﬁ5ﬂmaﬁmﬁaﬂ%ﬁwﬁa%mmm%ﬁw&ﬁﬁﬁw
HEH Hed afofd 54 82

1. 56
2.52
3. 64

4. 60

Correct Answer :-

5) In which year was the project Tiger launched? / g o o arg ufvae r &1 demdr BT YT?
1. 2004-05
2. 1983-84
3.2013-14

4. 1973-74

Correct Answer :-

e 1973-74

6) In which year did India become a republic? / frgaf o ura U TTURTSY d-1?

@)



1. 1956
2. 1950
3. 1952

4. 1947

Correct Answer :-
e 1950

7) Who is the first direct-entry Coast Guard officer to become the Director-General of Indian Coast Guard? /

YR TeRe® 96 & AP 9 aTat UIH Ueael-ufafd ae e R #1932
1. Rajendra Singh / Ioi5 g

2. Krishna Chaudhary / 80T e}

3. Prabhakaran Paleri / THT&HRU UTeIRt

4. H.C.S. Bisht / T9. 9t tg fap

Correct Answer :-

» Rajendra Singh / AR

8) Who is the present Governor of Meghalaya? / AT T IIHT ISTUTd B % ?
1. Tathagata Roy / dYTTd R

2. Padmanabha Acharya / UsT-TH 3T

3. Banwarilal Purohit / SHIRIATS QRifgd

4. V. Shanmuganathan / aﬁwwem

Correct Answer :-

« Banwarilal Purohit / STARIATA @‘%ﬁ

9) Who is the chief of the Indian Navy? / YR TR & T P 82
1. Admiral Robin Dhowan / TS TR e Uar

2. Admiral S M Prakash Nanda / TS Rd T TH b1 Hal

3. Admiral Sunil Lanba / TS{ERd ﬁ:ﬁaw

4, Admiral Arun / ngQa 3R=TT

Correct Answer :-

« Admiral Sunil Lanba / TSR ﬁzﬁﬁw



10) Three —fourths of the Earth's surface is occupied by / qvﬂ P Tqdg BT ?ﬂ?iﬁzné YT aRT

fUFa B

1. Air/dig
2. Sand/i_d

3. Water / 5IdJ
4. Snow / EIT%

Correct Answer :-

e Water / o]

11) Dadasaheb Phalke Award is given for: / GIGT UT8d BTed RIPR A F fore wer favar wimar &:
1. Literature / HT%?C[

2. Social welfare / JHIS D GIUT

3. Drama / SMHI
4. Films / fled

Correct Answer :-

« Films /TeH

12) Which Article of the Indian Constitution guarantees the Right to Freedom of Speech and Expression? /

YR AfAUH BT DI AT SJede dia 3t WaazdT a1 sifiaafed & ReR 3t yamyfa sarg?
1. Article 22 / &G 22
2. Article 20 / 3G 20
3. Article 19 / 3T 19
4. Article 21 / 3T&5G 21

Correct Answer :-

. Article 19 / 3G 19

13) The principal seat of the High Court of Madhya Pradesh is at / H&I USRT & I AT T U T
FEI 82

1. Indore / géR
2. Gwalior / TdTCTRAR

3. Jabalpur / S&¢TYR

®)



4. Bhopal / Uaret

Correct Answer :-

« Jabalpur / Se[cTYR

14) Pagara is a dam located in / U7TRT S 39 S1Tg | fRUq ]

1. Morena/]ﬁ:ﬂ
2. Sholapur / ‘«’nT’ITER
3. Ujjain / IS
4. Balaghat / dIciTdIC

Correct Answer :-

» Morena / '{:ﬁ_"ﬂ

15) All Union Ministers are appointed by / F% WoHR & 9 il ﬁ'ﬁ% IEE AN IR %?
1. Chief Justice of Supreme Court / ate e &1 Hoq e

2. The President / Tl'gqﬁl

3. The Vice-president / 3U ?quﬁ

4, Prime minister / T H3T

Correct Answer :-

e The President / Tl'gclﬁl

16) Where is the headquarters of Reserve Bank of India? / YR f¥ord d &1 HBITeY G| @ %?
1. Kolkata / SIcIopTal

2. Mumbai / Hﬁ%

3. Indore / E_C?R

4. New Delhi / 715 fae!

Correct Answer :-

« Mumbai / 45§

17) NH 47A, which starts at Kundannur is the shortest highway in India. What is its length? / TUd 47U S

PSR A TR BT 8, HRd | TaQ BleT ISTHR 8 | 31! aaTs o1 872
1. 8km/ 8 foreit

(6)



2. 5km /5 fosdt
3. 10km / 10 fopeft
4, 6km / 6 TpHT

Correct Answer :-

. 6km /6 fpHT

18) Who among the following is the winner of the Jnanpith Award for the year 2015? / fafafead s P aY

2015 ¥ fore gdte PR & fasar 32
1. Bhalachandra Nemade / HTTA% HTS

2. Raghuveer Chaudhary / T’QfﬂT ey

3. Girish Karnad / TR %18

4. Shankha Ghosh / TR@ Oy

Correct Answer :-

» Raghuveer Chaudhary / w et

19) The third Guru of the Sikhs was / RI@l & daR = O
1. Guru Arjan Dev / = 3‘@7‘[%

2. Guru Angad Dev / & 37T CEl

3. Guru Gobind Singh / TR= Mfeic g

4. Guru Amar Das / [%& 3HR Q¥

Correct Answer :-

« Guru Amar Das / T[= HH 9

20) Udayagiri caves is located at / SGARRY TP fRasg
1. Vidisha / fafe=m

2. Ujjain / 3591

3. Mandu / HIUG

4. Khajuraho / @T{],TI_E?[

Correct Answer :-

« Vidisha /g EQH



21) The first Asian Games were held in India in: / HRd ¥ UgQ QﬁTQT'&F Wdl BT TS fhar a7 oT:
1. 1950
2. 1952
3. 1951

4. 1953

Correct Answer :-

e 1951

22) International Labour Day is observed on / GI?RT@TI' 9q ﬁﬂﬂ' foa ﬁT-I' HAETIT SITdT %
1. May 1/ H3 1

2. May 17 /9% 17

3. December 10 / [a¥aR 10

4. June 5 /915

Correct Answer :-

. Mayl/rl_scl

23) The Vice-President of India is / HRT % SURTPUFA Bt
1. Elected by members of both Lok Sabha and Rajya Sabha. / JIGIIHI 3R AGIUT SHI & el gRT AT SITdT gl
2. Elected by members of Rajya Sabha only. / AT JSTIHT & Tl gRT T ST & |

3. Elected by members of Lok Sabha only. / HIA AHIUT & TG gRI EEIIGI gl
4. Appointed by the President. / Tl'gqﬁl gRI ﬁ'ﬂaﬁ [ER RS % I

Correct Answer :-

 Elected by members of both Lok Sabha and Rajya Sabha. / ST HI 3R AGIUT ST & Tl gRT AT STl H

24) The districts in which the Tropic of Cancer DOES NOT pass through are /o foren @ b Y i

1. Shahpur and Rajgarh / RIIGYR 3R o []
2. Indore and Balaghat / é.élq 3R SraTae

3. Bhopal and Jabalpur / HaTd 3R SENEN

a
4. Ratlam and Ujjain / I0QTH 3R Il

Correct Answer :-

(8)



 Indore and Balaghat / 4R 3R dTefrare

25) Complete the series choosing the missing number: / T IBAT FIHT AT I GRT BIO1T:
3,5,9,15,23,

1. 28

2.35

3.33

4. 30

Correct Answer :-

26) Complete the series choosing the missing number: / T IBAT GADR AT DI GRT BIO1T:
2,357,

1. 10

2. 11

3.9

4.8

Correct Answer :-

e 11

27) Complete the series choosing the missing number: / T IBAT TIHT AT I TRT DIO1T:
2,36,11,18,

1. 29

2.20

3.23

4.27

Correct Answer :-

28) Select the option that is true about the Statements and Conclusions given:
Statements:
Some sofas are chairs

©)



Some chairs are tables
Conclusions:

I. Some chairs are not tables
I1I. Some tables are sofas

/ 39 faweq &1 7= FHfom P few e Fy=t o frepaf & ar & 98l 2:
DY:

PO HIKT pRITT §

e

TO A9 BT §

1. only conclusion Il follows / Had fshy || &WW%

2. only conclusion | follows / Fad fAsny | &aﬂwm%
3. neither conclusion | nor conclusion I foIIows/:fﬁﬁ'Wﬁf | GﬁT:[_sD[ﬁWEf 1 S@TUTW%
4. both conclusion | and Il follows / f5pTY | Gﬁ'{ Il ?ﬁ:h Giw?:b_{ﬁ%

Correct Answer :-

¢ neither conclusion | nor conclusion I foIIows/'_‘T_ébfﬁEh_ﬁf | G'ﬁT:T_E»p[ﬁWEf 1 Giwm%

29) Select the option that is true about the Statements and Conclusions given:
Statements:
All scooters are vehicles

Some cars are vehicles
Conclusions:

I. Some scooters are cars

II. Some cars are scooters

| 39 faweu &1 9= Fifore Sife e e Hy=Y ik el F T & It @:
hY:

AUt TpeR ATE €
PO PR A3
e

I T8 PR aABAE
II. $ PR TR 2

(10)



1. only conclusion Il follows / Had ey || WW%

2. only conclusion | follows / Wﬁmﬂfl G@TUTW%

3. neither conclusion | nor conclusion Il foIIows/'_‘faﬁ'@b_‘Sf | GﬁT:T_GDIﬁEFEf 1 WW%
4. both conclusion | and Il follows / FTs Y | \3‘ﬁT Il a—"ﬁ G{ﬂ'ﬂwaﬂﬁ%

Correct Answer :-

¢ neither conclusion | nor conclusion Il foIIows/q_epfﬁ'Wﬁf | GﬁT:TEPIﬁWEf 1 &WW%

30) Select the option that is true about the Statements and Conclusions given:
Statements:

All trees are shrubs

Some plants are trees
Conclusions:

I. Some plants are shrubs

II. Some plants are not shrubs

/ 39 faweu &1 994 Fifore sife e e wy=Y ik fAswuf $ ar & I8t @:
DY:

it ge I ¥

Fo NI g &

e

1.@11%931@,&%'
II. $O T st A8t @

1. only conclusion Il follows / &ad fsem |1 WW%

2. only conclusion | follows / Had f=hy | WW%

3. neither conclusion | nor conclusion Il follows /qﬁﬁw | ﬁ?qﬁﬁmﬂf Il GWUTW%
4. both conclusion | and Il follows / fTsh Y | GhT Il E(Pl:ﬁ &WW%

Correct Answer :-

« only conclusion | follows / ad T5HY | STHR0T Rl §

31) Find the odd one out: / T fauH JIa Hifome:
1. Horse and Stable/'in?pT 3R 3RS

2. Sheep and Pen / ﬂ?‘:‘?\ﬁ?ﬂq

3. Birds and Nest /U&‘ﬁ 3R i

4. Dog and Den/ﬁxﬁ?qﬁ
(11)



Correct Answer :-

» Dogand Den/ﬁx’:ﬁ?%

32) The series given below contains a sequence of numbers. Identify the incorrect combination: /

912 & 1< e §, Jemnai o1 v HH IURRIA &1 Tord ST TgEiI:
1,3,7,15,31, 64

1.31

2.15

3. 64

4.1

Correct Answer :-

33) If JOKER is coded IMHAM, then how is SHAHRUKH coded? / If¢ JOKER &I IMHAM & &ifsd
foraT SITaT 8, 9 SHAHRUKH &) &9 Pifed foar sam?

1. RFYENDOZ
2. RFXDMODZ
3. RFXFMODB

4. RFXENODZ

Correct Answer :-
« RFXDMODZ

34) If CONDEMNis coded CNODMEN, then how is TEACHER coded? / 9f¢ CONDEMN & CNODMEN
A PIfed far imar 8, af TEACHER &) &4 Fifsd fHar s

1. TAEECHR
2. TAECHER
3. TAECEHR

4. TCAEER

Correct Answer :-

o TAECEHR

(12)



If CHAIR is coded DIBJS, then how is TABLE coded? / Tfé CHAIR & DIBJSW Hifsd fur wirar €,
TABLE & $Q HIfSa far s

1. UBCMF
2. UDBLE
3. RACGK

4. SFGMI

Correct Answer :-

e UBCMF

36) Study the instructions carefully and find the value for the following: / fad=n =1 WH‘UjE? g
F3 3R 7 &1 a1 19 B9

Here; / U3T;

+ => Multiply / J[UIT BT

* => Division/ ICHEE

/ => Addition/ T

- => Equal to/%W

= =>Minus/ BT

60*(22=10)+1+3+3
1. 45
2.9
3.90

4. 48

Correct Answer :-

37) Complete the series choosing the missing letter/s: / &l &R/ &I DI AP @l Eal ORI PifoTg:
abxyz__xa__yxa__yza__xz__

1.b,z,a,b,a

2.b,x,a,b,y

3.b,z,b,b,y

4.b,z,b,c,a

Correct Answer :-



38) In a certain code language, beta zeta teta means slow local train, zeta zota pota means fast
passenger train, tui mara beta means view slow motion. Which is the word for /oca/in that code
language? / U @ PIS UTIT ﬁ', beta zeta teta @1 34 slow local traim; zeta zota pota 1 3 fast
passenger trai; tui mara beta®1 I view slow motion BT g1 59 HIS HINT H Jocal & fore ford 2

1 ST fomar T 82
1. mara
2. beta
3. pota

4, teta

Correct Answer :-

o teta

39) In a certain code language, Bring me water means Ki Pu Le; Don't waste water means Do Ki
Ma; Bring that board means Le Tha Se. Which is the word for Bring in that code language? / Tdh W€TH
IS HTT ﬁ, Bring me water &1 3 f Ki Pu Le; Don't waste water &1 3 ¥ Do Ki Ma; Bring that board
BT Y Le Tha SeB1d1 81 59 PIS HIWT | Bring & fore 5y 2reg &1 swdwTa far Tar 82

1. Do
2. Pu
3. Ki

4, Le

Correct Answer :-

o Le

40) In the word 'MICROSCOPE" each letter is replaced by the letter preceding the letter in the
alphabet series. What will be the 8th alphabet in the changed word? / g 'MICROSCOPE” § U&®
&R P guiHTar yaar § gdadf srer  ufawfua forar wirar 31 ufvafda rsg & 877 srerR am ghme?

1.N

2.Q
3.P

4.B

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

(14)



1 If the following two squares shown below overlap, which one of the following options

is formed? / AfE 5= & @91 sifdcaioa g1 & o oFa & ¥ == @1 v GeeT g=ar &7

I/
o
P
it
s

Correct Answer :-

(19)



In the sequence shown below, which figure comes next? / @ird T&dr 31 &H H, el
HIPId i | HRE?

AP
>
AN
>
<2
oY

(16)



| 2 o | =

Ly | =

4,

Correct Answer :-

4) Mahesh goes to a shop to buy a shirt for Rs. 654. The rate of sales tax is at 9 %. He tells the shopkeeper to
reduce the price of the shirt so that he pays only Rs. 654, inclusive of the sales tax. Find the reduction needed in

the price of the shirt. / TgRI TH BT W 654 TUA N T BT @iea1 8| it e 1 g 9% 81 a8
GPGR BI I W a7 UL B B I Bl g, e a8 fIshl H & 1Y AE Y 654 TUA | WG T |
IE B BIAG | Pt T aTedl TIAD HHI 7

1. Rs. 74 / 74 300
2. Rs. 54/ 54 0T
3. Rs. 84 / 84 3UY

4. Rs. 64 / 64 ST

Correct Answer :-

e Rs.54/54 30

5) How many numbers from 500 to 700 start or end in 6? / 500 TUT 700 & dig fpa Q;ﬁ WTE %, Sed
SRY T JUTH §iell 82

1. 100
2.99
3. 10

4. 110

Correct Answer :-
e 110

6) Which of the following is a perfect square? / frafafaa d @ o= & I=n Udh Q:Uf Tt %?

1. 457633
(17)



2. 228484
3. 378119

4. 266498

Correct Answer :-

o 228484

7) What is the time taken by a train of length 200 m traveling at a speed of 60 m/s to cross a person traveling at

a speed of 36 kmph in the same direction? / ZOOWWW%WWQ A, %,wmﬂﬁ36
fitd @t arer A I e wafe 3t feat & d IR Sl

1. 4sec/4‘v3f.
2. 10 sec/ 10@.
3. 11sec/ 119,

4.586C/5®-.

Correct Answer :-
e 4sec/4 @

8) What is the average of the first five prime numbers? / UYH 5 HIY T &1 Sfta fan ghm?

Lh
K
= L | b2

L | e

Ln
Lh | L

4.6

Correct Answer :-

Ln
L | L

9) Average of all prime numbers between 30 to 50/ 30 50 & 91 T 9 3ryTST T=ei o1 Sftad g
1. 39

2.37
(18)



3.39.8

4.37.8

Correct Answer :-

e 398

10) If the shares of children of a sheikh are in the ratio 2/3 : % : 3/5 given that the difference between the shares
of the sons with the maximum and the minimum share is 15 million Arabian Dinars, how much is the share of

the son who gets neither the maximum nor the minimum share? / Wﬁ@aﬁwﬁrﬁmaﬁ%%ﬁm
ST 2/3:1/2:3/5 8 | f&a wan B i siftreraw ik =gmaw iR & &t 15 A= sRft AR w1 3R 31 39
A 1 et foraa 8, o 71 ot iftreraw fawar ured gam =1 €t =g=aw?

1. 48 million Arabian Dinars / 48 f&fera 3Rl fdIR
2. 54 million Arabian Dinars / 54 fHferI 3Rel fddAR
3. 60 million Arabian Dinars / 60 THTeRI 3Ral fdAR
4. 45 million Arabian Dinars / 45 FfeRE 3Rel fdR

Correct Answer :-

« 54 million Arabian Dinars / 54 TG 3R& ia:ﬂq

11) A person purchased a bike for Rs. 50,440 including sales tax. If the rate of the sales tax is 4%, find the
original cost of the bike. / T TR TP TP 50,440 TUY A Wtear 8, Forad fast ww W e g1 afe
et X B R 4% 8, A ISP BT IRATID Tod J1d De |

1. Rs. 48,500 / 48,500 TUY
2. Rs. 49,500 / 49,500 ST
3. Rs. 48,000 / 48,000 STY

4. Rs. 49,000 / 49,000 TY

Correct Answer :-
e Rs. 48,500 / 48,500 ST

12) An Iron box was brought for Rs. 770.75 and was sold for a profit of Rs. 50.25. Find selling price of Iron
box? / TP Wi PT TEHIT 770.75 YA & TWIGT T, 3R 3 50.25 FUA & ATH TR o a1 7411 39 999 1
fawa e fpamr 82

1. Rs. 721 /721 W
2. Rs. 521 /521 308
3.Rs. 821 /821 4T

4. Rs. 621 /621 39T

(19)



Correct Answer :-

« Rs.821/821 308

13) There are three sections A, B, and C in an examination and it is necessary to get at least 40 % of the total
marks to pass the exam. A candidate got 84 out of 120 in Section A and 40 out of 150 in Section B. State the
minimum score the candidate has to obtain out of 180 in Section C in order to pass the examination? / T qﬁ&ﬂ'

T fI9T SFHTT A, B 3R C & 3MR Tdien ot Sl #3A & fore oa il &1 gAaw 40% a1 3ifard 31 v
eIt B SgUTT A T 120 B 3 84 31 3R SFUTT B | 150 T A 40 3w U gidt & | Tiemff &) wdten o
Iwitof 39 & fore srgumT ¢ o 180 # A foraq i @1 gl

1.32
2. 44
3. 56

4. 64

Correct Answer :-

e 56

14) There are 30 % monkeys, 40 % deer, 10 % wolves and 20 % lions in a forest. If all 100 deer are captured
from the forest, how many lions are there in the forest? /| T ST H 30% E'ET, 40% %?_"I', 10% ﬂﬁ;& 3R 20%
W 1 afe gt 100 3R STe A ywp s fore 4, ot Sivre A fpaq AR &2

1. 50
2.45
3.25

4. 30

Correct Answer :-

15) A, B, and C can do a work in 24, 16 and 12 days respectively. How many days will it take them to complete
the work, if the three of them decide to work together? / A, B 3R ¢ fHft o & pH: 24,16 3R 12 ﬁ‘ﬁ' i
RTHXd 8 | i & 91 e s $31 &1 fAvfa A4 €, 9 &1 feam A & 1 8 smame

1 1
52 days / 5=fc4
3 5 3

5

:
days / Séﬁ_ﬂ

[FER N

(20)



5—days / Séﬁ?r

-

b | o=

3 3
5Zdays / 5= EFI
4 % 4

Correct Answer :-

16) The simplest form of 30xy + 20yz - 10xy - Syz is: / 30xy + 20yz - 10xy - Syz DI H U Eﬂ"'lT:
1. None of the above /mﬁ ﬁaﬁs‘ :lﬁ

2. 15yz + 15xy

3. 20yz + 20 xy

4. 20xy + 15yz

Correct Answer :-

e 20xy + 15yz

17) 30:42::35:?
1. 48

2.40

3.45

4.49

Correct Answer :-

18) The average of 3 consecutive numbers is 15. Find the highest number among these numbers. / 3 Egtirg

T3 BT N 15 81 370 Tad TS W= ghft-
1. 14,15,16
2.15,16,17
3.12,13,14

4.16,17,18
(21)



Correct Answer :-

e 14,15,16

19) In the sequence shown below, which figure comes next? /< fed ma 'ﬁ:, 3ATet 3"@)‘% P At smafte

X X X ’
0 0 + )
1.0+
X
) 0
X0
+
3.
X_
0 +
4,

Correct Answer :-

20) A train, 175 m long, running at a speed of 63 kmph will pass a man in ./175 W, et U a:T S 63

i Flaadds e wafams A urRFal
1.8sec/8¥

2. 10sec/ 10 9.

3.6sec/ 6.

4, 12sec/ 12 @

Correct Answer :-

e 10sec/109.

(22)



A train 300 m long travelling at 120 kmph crosses a bridge in 45 seconds. How long is the bridge? / 300 . el

& ¢ 120 frril/a Bt vfa & 909 3¢, T T B1 45 Q. B UR Bl B | A B g fhani 82
1. 1500 m / 1500 HI.

2. 1200 m/ 1200 H.

3..900 m / 900 H.

4. 1000 m / 1000 HT.

Correct Answer :-

« 1200 m/ 1200 H.

22) The inner circumference of circular race track 14 m wide is 440 cm. Find the radius of the outer circle. / 14

Hex 12 TP PR e F A B 3T TR 440 I B | 9181 79 91 B g 31
1. 56 m / 56 HIeR
2. 84 m /84 HIcX
3.76 m /76 HIcX
4.90 m /90 HIX

Correct Answer :-

. 84m/84 TR

23) The Ratio of Ages of Anil and Sunil is 2 : 3. Five years later their ages will be in the ratio of 3 : 4. What are
their present ages? / 3{f-Iel 3R TTe B 3T BT YT 2:3 B | T AT T1G SAD! 3T BT ST 3:4 TR,
S| TAHT 3T T 32

1. 16, 24
2.8,12
3.4,8

4. 10, 15

Correct Answer :-

24) The difference between two numbers is 235. When the larger number is divided by the smaller one, the
quotient is 4 and the remainder is 10. Find the largest number. /a' H@Tﬁﬁ BT 3 235 %I Tlﬁ' arn.."r =T &I
BIA T@= | fuTira frar STe @ URTwd 4 3R AT 10 YT BT 8 | St H&=T J1d B |

1. 295

2.315

(23)



3. 305

4. 310

Correct Answer :-
e 310

25) Two times the age of X is 3 times the age of Y. 8 years back, the difference between the ages of
X and Y was 18 years. What is the present age of X? / X ®! G-l 3Mg Y & 91 T 3] & R1aR 21 8
T gd, X 3R Y Ft 3mg F7 Siax 18 ¢ I X Y Fedur 3y frast 82

1.24
2.54
3. 56

4.91

Correct Answer :-

26) 43% of 20 + 65% of 30 = ? / 20 BT 43% + 30 BT 65% =?
1.22.1
2.20.1
3.28.1

4.29.1

Correct Answer :-

e 28.1

27) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ﬁ'ﬂ'ﬁa ™ IR

udl § ¥ i fad M ud & e HH 919 91 U 61 82

Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland

(i) Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland
(24)



(ii) Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland

(iii) Todd Watson
33 Paula Lane
Uncasville CT 06385

30-740 Poland

(iv) Todd Watson
33 Paula Lane
Uncasviile CT 06385

30-740 Poland
1. iii

2.iv

3.ii

4.1

Correct Answer :-

28) Find the average. / 3NTa Ad P
101, 105, 107, 113, 115 & 125

1. 111

2. 117

3.109

4. 110

Correct Answer :-

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: EiE]

3t 713 e 7, srerRY 3R Wit &1 v wu A § 1 Tera SuieH vgaie:

i.rwqr00241rwqr
ii.rwqr002411wqr

iii.rwqr00241rwqr
(25)



iv.rwqr00241rwqr

1. iii

Correct Answer :-
e i

30) A cube of 384 cm? surface area is cut into smaller cubes of surface area 6 cm2. How many

cubes would be there? / 384 912 &% d 9T TP °= I 6 HI2 aTel BIe-BIc T4I & SIeT A1 21 Bl
g4l &1 T2 feaHt gtz

1.4
2. 16
3.27

4. 64

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)
IE[(2)! = () s expressed in the form”  then it is: /& [ =) ] = CFEE A
=gag T AT, O 98 2

=

=
1.

—8
2.

=

3
3.
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—3
2 x._ ¥ x_ Y
The value of s£—5% = LW ATE
xZ 3 a5 gt
1.1
2.)<2y2
3. Xy
4, -Xy

Correct Answer :-

3)

If /18225 = 135, then the value of /18225 +/1.8225 is: / TTE /18225 = 135, ar

V182.25++/1.8225 &1 A & :

1. 1.485
2. 13.635
3.2.7

4. 14.85

Correct Answer :-

« 14.85
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In the figure, AB || DC, 2ABC = 60°, ~CEF = 30°, then ~.EFD is: /¥ # AB || DC. zABC = 60°,
+CEF =30°,dl £EFD §:

A [ D

o

1. 40

o

2.30

o

3.20

o

4,25

Correct Answer :-

o

« 30

5) A shopkeeper marks his items 40% above the cost price and gives a discount of 20% on the marked
price. His gain percentage is: / U BTG Ut axgii ®1 5 T I 40% AP 3ifhd Hear g
3T STOIR o UR 20% P P 31 8 | STDT a1y yfa=rd 8 :

1. 20%
2. 14%
3. 15%
4. 12%

Correct Answer :-

« 12%

6) Ramesh needs to earn a monthly interest of Rs. 8000. The interest rate is 10% per annum but it is
paid every month. Which of the following is his investment? / U P 8000 UL BT HIRIPH AT
3T H BT HTaAH AT & | TS & 10% UfadH g W g 8¢ 918 & ol 3| Fraff@a 4 -
1 39T faw 32

1. Rs. 800000 / 800000 TTY
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2. Rs. 640000 / 640000 SUY
3. Rs. 1000000 / 1000000 ST
4. Rs. 960000 / 960000 ST

Correct Answer :-

« Rs. 960000 / 960000 ST

7) A can do a piece of work in 10 days and B can do it in 15 days. Number of days to complete the
work if they work together is: /AWH’T&H% 10 ﬁ‘—rﬁwm% Gﬁ?B 3 15 ﬁ?ﬁmm%l
gfe Q1 T 14 B B df BT got weq § ot fo +) v=n @

1.6
2.9
3.7

4.5

Correct Answer :-

8) Three cubes whose edges measure 3 cm, 4 cm and 5 cm are melted to form a new cube. The surface

area of the new cube formed is:/mwmmﬁmmBﬁ,4ﬁ3ﬁ?5ﬁ%WqQW
¥ fator & fore e ke e 81 Aiffa e = s qdig dawa 2 -

1.294 cm? / 294 YHI3
2. 150 cm3 / 150 T3
3. 864 cm’ / 864 THI3
4.216 cm3 / 216 913

Correct Answer :-

« 216 cm3 /216 91

9) When 2x* + 8x3 + 7x2 + 4x+ 4 is divided by x + 3, the remainder obtained is 1. What will be the
remainder when 2x* + 8x3 + 7x2 + 4x + 3 is divided by x + 3? / Od 2x* + 8x3 + 7x% + 4x+ 4 Pl x + 3,

eRT fauTiorg f5ar AT dt Ured AT 1 21 919 2x4 + 8x3 + 7x2 + 4x + 3 DI x + 3 gRT fAuTiora fear
SITU df AYBS T IT?

1.3
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2.2
3.1
4.0

Correct Answer :-

« 0

10) Which one of the following statements is correct? / fFafaRea sy a7 Cack:| Udh Wﬁ %?
1. 392 is a perfect cube / 392 Udh EUTEFT %

2. For an integer a, ad is always greater than G W adh ﬁ“l'q, a3 ﬂ%’@' a2 d dgl %

3. There is no perfect cube which can end with exactly two zeros / ﬂﬂT Tﬁ_sc U;Uf Uq qﬁ% S @ dare I Eﬁ
Y1 & 1Y QAT &l

4. If a2 ends in 5, then a3 ends in 25 / af¢ a2, 5 § GAT gldT @ @l a3, 25 H AT gidT &

Correct Answer :-

« There is no perfect cube which can end with exactly two zeros / @T Tﬁ_sc 110f Uq qﬁ% S tl;ﬁ dave I Eﬁ
Y1 & 1Y QAT &l

11) The parallel sides DC and AB of a trapezium ABCD are 12 cm and 36 cm, respectively. Its non-
parallel sides are each equal to 15 cm. The area of the trapezium is: / T JHA ABCD P THIAR
YWITE DC 3R AB HHTT: 12 JH 3R 36 A} T | TSB! TP SRIATAR YoITE 15 T & SRT&R &
AT BT §ADA G :

1. 432 cm? / 432 TH2

2. 162 cm? / 162 IH12
3. 108 cm? / 108 #}2

4,216 cm? /216 TH2

Correct Answer :-

« 216 cm? /216 THR

12) The probability that a number selected from 1, 2, 3......,35 is a prime number is: / 1, 2, 3......,35 s |

ﬁmﬁaww%awwﬁﬁaﬁmﬁw%:

12

a5

(30)



4,

13) What is the number of sides of a regular polygon when each of its angles has a measure of 135G? /

TP 99 9gYS FI fohasil YoITg § STafer SUS U® P10 BT A 135 82
1.6
2.9
3.8
4.7

Correct Answer :-

.« 8

14) Soft metals that can be easily cut by a knife are: / HATIH 'iﬂﬂ'q ﬁl% 3T Q?HT ﬁm GITWT%:
1. Mercury and zinc / URq TUT ST

2. Sodium and potassium / Ofegy aur meRrs

3. Sodium and tin /?ﬁ%ﬂqﬁ%ﬂﬁ:{

4, Potassium and zinc / e R qUT Sl

Correct Answer :-

e Sodium and potassium / Qfsay aur MefRrmy

15) Which one of the following is NOT a renewable source of energy? / frafafea ® @ 19 a1 et &1 5
TRty A6t 52

1. Wind mill / U9 a1

31)



2. Solar cell / TR I
3. Nuclear power / TNDIT ol
4. Tidal power / SIRIY Qfdd

Correct Answer :-

» Nuclear power / DI Sl

16) An element which is stored in water is: / T dcd < ur A H"/T%?l Eﬂ?ﬂ %:
1. Phosphorus / BB RY

2. Zinc / SIXdl

3. Sodium / fSTH

4, Potassium / qﬁﬁrm:r

Correct Answer :-

» Phosphorus / B RY

17) The transfer of pollen from the anther to the stigma of a flower is called ./ mﬁw
& gffeTy a9 TR &1 VIR0 Sy |

1. fertilization / FAST
2. fission / faEsq
3. pollination / UXFTUT

4. transportation / trR’aE:f

Correct Answer :-

« pollination / GXITUT

18) A constellation named hunter is: / 98 ARTHS = % e A g %:
1. Polar bear / ?:[Eﬁt[ HIq

2. Sirius / TG

3. Orion / 3RO

4. Great bear / J¢ foRRR

Correct Answer :-

« Orion / 3RTT
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19) AABC is inscribed in a circle with center O and if “BAC = n, “OCB = m, then: / %% O 9Tl TH

g d 2ABC IV g 3R T “BAC=1n, OCB=m, q:
1.m+n=150G
2. m+n=90
3. m+n=180
4m+n=120

Correct Answer :-

20) Which of the following is not a characteristic feature of acute diseases? / IGLSE] ﬁ aﬁq I Th TR ﬁ"ﬁ EJ|
Sftraeifore faivar 98t 82

1. There is a short duration loss of work and efficiency. /WW% %’Ema &WFITUW@H@?[%I
2. The patient recovers completely after the cure. /W%Wﬁ@@@%ﬁﬂﬁ%l

3. They are long lasting diseases. /%aﬁwﬁwﬁwsﬁ%l

4. There is no loss of weight. / sﬂf{ ol Bt E’Tﬁ :I%jf a'cﬁ %I

Correct Answer :-

e They are long lasting diseases. /amwaﬁgl

21) It covers the ends of limb bones and reduces friction in joints. With what is it covered? / Ig Il

HFRYT & RRT Y epell 8 SR TSt A T H Tl ¢ | I8 fras T Tl 52
1. Ligament / 31TRRSY

2. Cartilage / JUTRY

3. Muscle / HiEORH

4, Tendon / X

Correct Answer :-

. Carﬁlage/G'CIT@J

22) A number is twice the other number. When the larger number is subtracted from 50, the result is 2 more than
when the smaller number is subtracted from 40. The smaller number is: / T HS&AT m T Bt Eﬂ'[Fﬁ %I Sld a@’f
HEAT BT 50 T YSTAT ST 3, A YT TRUTH Bt HRAT B 40 T TETT 1+ U= UIed fomd & 2 e giar g1
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1.6
2.7
3.5

4.8

Correct Answer :-

23) Young one of a cow is called

1. kitten / ot @1 9=
2. calf/ hTth

3. baby / 9=

4. pup / e

Correct Answer :-

e calf/ P

24) The passage of electric current through a salt solution causes a: / <dUl e & wremw @ ﬁ@'ﬂﬁ URT
¥ Y4dTE & PRI T BT &:

1. Electric effect / fdgad UHT@
2. Heating effect / dI4 YHId
3. Chemical effect / XHAT YHIT

4. Magnetic effect / E\Fﬁlﬁ'q UHIg

Correct Answer :-

o Chemical effect / XU YHId

25) Flexibility in plants is due to . /oy o Fftem F HRUI AT B
1. Collenchyma /@W

2. Sclerenchyma /ZgIdd®

3. Parenchyma /Hgd®

4. Chlorenchyma /H@WIETIT

Correct Answer :-

e Collenchyma EGLIGED




26) Forest is being cleared for cultivating crops. The environmental impact of such practice will lead to: /

Tadl Bt Aot & T 7 ST T fFar o1 36T 21 59 PR & 31T BT IgiaRvig YT SHPT Aqgd Dl
1. Soil cul‘civa‘cion/IETG\EHE.t

2. Soil erosion / Hal UG

3. Soil pollution / Hal UgyUl

4. Soil fertility / gl &1 JaRdl

Correct Answer :-

« Soil erosion / Hal 3URq

27) Depletion of ozone is mainly due to: / 3\SlF PT U &I Y A P HRYT §idT 8:
1. Chlorofluorocarbon compounds/mtﬁm
2. Carbon monoxide /Wﬁ&m

3. Methane / HI39

4. Sulphur dioxide / e CC';'I'S'G‘ITd'{-Ilss

Correct Answer :-

e Chlorofluorocarbon compounds / FARITARIBTST Afh

28) Collenchyma : hemicellulose ::sclerenchyma :
/ PG %‘lﬂ'@ﬁ?ﬁ'\q:: %E"\?ﬁ?

1. lignin / fafd=

2. cellulose /@@Fﬁﬂ

3. pectin / Ufgeq

4. fibres /W

Correct Answer :-

« lignin AR

29) The umbrella- like spherical part of a button mushroom is: /Td dc- HRITH DI T ST MATPR

‘HT‘T@HT%

1. Pileus /&89

2. Rhizomorph / ddeiel
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3. Sporangium /m‘m‘ﬂ
4. Stipe / BIABIGd
Correct Answer :-

e Pileus /854

30) When viewed from the top, the water in the pond appears to: / $UY J aﬁﬁ TR, dIeid # gt ﬁ@'lé

CGIRH

1. Be more deep / 3HfeH RIGR
2. Be less deep / HH g

3. Be same / §HIH

4. Sometimes appears less deep and sometimes more deep ) TSt HH e 33?$¢-ﬁ-$’-ﬁ@ﬂ:ﬂ 3P

Correct Answer :-

« Beless deep/ HH G

(36)



